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‘Do not open this booklet until you are told to do so. While you are waiting, write your name and index number
in the spaces provided at the top right-hand corner of this booklet and thereafter, read the following instructions
carefitif .
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1.  Usc HB pencil throughout.

2. Ifyou have got a blank answer sheet, completc its top section as follows.
(a) In the space marked Name, write in capital letters your surname followed by your other names.
(b} In the spaces marked Examination, Year, Subject and Paper, write “WASSCE’, ‘2013 JUNE’,
: ‘GENERAL MATHEMATICS/MATHEMATICS (CORE)’ and “1°, respectively. .
(c) In the box marked Index Number, write your index number vertically in the spaces on the left-hand
) side. There are numbered spaces in line with each digit. Shade careﬁxlly the space with the samc
" humbér as each d}glt
(d) Inthe box marked Paper Code, write the digits 402112 in the spaces on the left-hand sidc. Shade the
corresponding numbered spaces in the same way as for your index number.
(e) Inthe box marked Sex, shade the spacc marked M if you are male, or F if you are female.

3. If you have got a pre-printed answer sheet, check that the details are correctly printed, as described in 2
above. In the boxes marked Index Number, Paper Code and Sex, reshade each of the shaded spaces.

4.  Ancxample is given below. This is for a male candidate, whose name is Chukwuma Adekunle CIROMA,
whose index number is 4251102068 and who is offering General Mathematics/Mathemaﬁcs (Core) 1.
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PRINT IN-BLOCK LETTERS
Name CI R.OM A CHUKWUMA A DEKUNLE Examination:- HPcSS CE Year: 2013 IUME
Sumame - ; other Names
subiect: G ENE R AL MATREMATICS | MATHEMATICS (corgYpaper:_ 1+
INDEX NUMBER , PAPER CODE SEX -
& cOactac2ac3amdu c5acgac7acgac9s |1 [ LE [c03c13c23r2 e cEacBac7acgacgy’ ' ' i
&= 3 o 2 Indicate your sex by -
_ 2'_ c0aciimgec3icdscsacbacFaciacgs m§=c11c23cIacgreFacsIcTacgacsa shading the space ]
35 {c0aciar2ac3acdambe cbacTInBI 9z Je0aciamiec3acqiciangacZacgacya marked M (for Male) | pum -
4 {cosmtac2ac33c43c625637308003 cOzmwc23c33043 0530637356309 or F {for Female} in T -
_1__ cO3im c22c3ac43e83c63c73e83293 cOawe =21 c33cd3cEacdacyacgacga ; lhjs box: M F --
.ﬂ; 'mguclac2acIacdacsachacTac8aca cOzclamfiec3acdrchacgacTaciac9a - — -. : g :
2, {=0ac1amlec3acdacsaceacTacsacda | Ky NS T0 CANDIDATES : - —
|} § e 1323532 c43c8c63c7ac8393 1. Use grade HB pencil throughout. -
_g_ 351352353345y mie =TS ::8:::9: 2. ?k’;s’;’:; each fl:‘?‘h“[bg ?hws[igzgione &f and shading it *
efarisc2ardacdacsicéacTrmucya 3. Erase completely any answers you wish o change.
- g 4. Leaye extra spaces blank ¥ the answer spaces provided are more than you need.
FaE SUpSEvisorssoniy. 5. Do not make any markings acvoss the heavy black marks at the right-hand edga ot -
If candidate is absent shade this space: [__| your answer sheel, ¥
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 Answer all the questions.
Mathematical tables may be used in any question,
The use of non-programmable, silent and cordless calculaiof is allowed.

Each question is followed by four options lettered Ato D Find out the correct option for cach question
and shade in pencil on your answer sheet the answer space which bears the same letter as the option you have
chosen. Give only one answer to-each question. An example is given below.

" The ages, in years, of four boj}s, are 10, 12, 14, and 18. What'is the average age of the boys?
A. 12 ycars |
B 12% ycars
C. 13 ycars
D 13% years
The correct answer is }3% ycars, wh‘ic}";._'i_._sje{lt-ered D, and therefore anSmer space D would be shadéd.
[A] [Bl . iffC] e
Think carefully before you shade thé cinsw“efspaces; e)'asg’,éo}zitpletely any answer you wish lo change.
Do all rough work on this question paper.

Now, answer the following questions. . - ;

1.  Multiply 2.7 x 104 by 6.3 x {,06‘5311‘[;'1‘_ Iveavc your answer in standard form.

A, 17x103
B.  1.70x 103
C. 1.701 x 103
D.. 17.01x 103
i B If9(2"‘) -3, find x.
" By B
i PR
. B B
o
s
._}3__..5
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3. In what number basc is the addition 465 +24 + 225 = 1050?

. - - 2e
A. len A}"“"
40
B. ninc “ofligo
i
C. cight '—gg
D. scven I
7 2. ,5 sz .
(il w2z 15 42 @& I8D 8 B
\HS D — — . — T 4 : —
4. Simplify: —r-——-_u— _: 3 3 = ‘4_70 *)b-“‘i% i/.‘,eé- q_izl
4 4 2
30
A B Cc
> 14 . ——
4 “;T—g_—‘;z_i P 1o N o
e ips * g e Y T
Hse
eI I
= :

5. If U, =n(n2+ 1), cvaluatec Us—U »:_C\‘-_‘é- ‘ sl
. n = nn + 1), cvaluatc Ug — Uy. @ -

A. 18

B. 56 ‘: =) QA G
c. 6 ) \ 2z )
D. 80
/
9 &8 ox
6. 1f VS0 — K¥8 = —=, findK, B ST _’__\x
due N
A. 2 2
B. -1
g &3
D. 2

7. Asalcs boy gave a change o[ N68 instcad of N2, Calculatc his percentage crror.

A. 4%
Su
B. 59 %
15
C. S-E%
D. 7%

e Turn over i
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11.
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4

Four oranges scll for Nx and threc mangocs scil for Ny. Olu

How much did he pay in terms of x and y?
A. MN(4x+6y)

B. MN(6x+4y)
C. N(24x+12y)
D. N(12x+24y)

- _ .YZ o z .l‘—y 2 C o 4
Simplify: (r+ e "’(im"—ng). / "X —*\(_,,é-

=Y (~x—+ 73)"
he =3
B., xt+y
3 E
+3

& 3% +3Y
I =¥

Solve the incquality: 2x-3 < (2—x):

2
A. x>0
B. x<-}i
o &
G x>22
1
D. JC'~’-24

] 1
=y
If x = 64 and y = 27, cvaluate: e,
y-x
A 21
B3
5
S |
11
D. 43

_( 7(_=Y§"

bought 24 orangcs and 12 mangocs.
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Which of the following lincs represents the solution of the incquality 7x < 9x — 47

B ——y 4 i
—2 0 2
o

C. =< {- } e
—2 0 2

<0

Do =} } >

v m==d 0 2

13. I Jx+2p=3and Sx—2y=1,find (x + ).

3
2
1
0

= T

s

1
14. Giventhat ,3= , make g the subject of the equation.

V4
q= pr

B. g=p
C. g=pr
D, g= pr%

1026 Turn over
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17.
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1 S

In the diagram, PRSTis a squarc. If|PQ| =24 cm, |OR| =10 cm and £POR=90; find the perimeter of
the polygon PORST.

A 112em
B 98 cm
C. 8Bb6em
D 84 cm

In the diagram, the height of a flagpole | 7F] and the lcngth of its shadow |FL| are in the ratio 6 : 8. Using

K as a constant of proportionality, find the shortest distance between T and L.

A, TK units
B. 10K units
C. 12K ﬁm’ts
D. 14K units

A chord is 2 ¢ from the centre of a circle. If the radius of the circle is 5 cm, find the length of the chord.

A. 2421 em
B 42 em
C. 219 em
D V21 om
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18. A cubc and a cuboid have the same base arca. The volume of the cubc is 64 cn? while that of the cuboid

is 80 cm?. Find the height of the cuboid.

A. Zcm [
B. 3cm B g
oo
C. S5cem ey o
D. Gem '
U
19.
os* LAY
46°
\% W X
In the diagram, VX is a tangent to the circle UYW at W. 1f WY/UV, £ UYW=95° and ZUWY=46°,
find ZUVW.
K. 5is
B. 49°
C. 39°
D. 34°
20 7 0 N
M
X Y

In the diagrams, | XZ] = |MN], |Z¥| = |MO| and |XY| = [NO|. Which of the following statcments is {ruc?
A, AZYX = AOMN
B. AYZX = ANOM
C. AZXY = AMON
D. AXYZ = ANOM

1026 Turn over
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5

3 R
In the diagram, PORS is a rhombus and ZPSQ = 35°, Calculate the sizc of ZPRQ.

A. 65°
B. 55°
C. 45°
Dy, 235"

22
P

153°

2m

L
L4

Find the value of m in the diagram.

A. 34°
B, 27
Lo 23N

D. 1w

1926




23.

24,

25.

26.

26

In the diagram, O is the centre of the circle, OM || XZ and £ZOM = 25°. Calculate £ XYZ.

A 50
B. 55
C. 60°
D. 65
W o
Ifsinx= 3
7
A 13
12
B. 13
i
€ 136
209
D. 156
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and 0° < x < 90°, find the value of (cos x — tan x).

An object is 6 m away from the base of a mast. The angle of depression of the object from the top of the
mast is 50°. Find, correct to 2 decimal places, the height of the mast.

A.

B.
b
D

8.60m
7.51m
7.15m
1.1%m

The bearing of ¥ from X is 060° and the bearing of Z from ¥ = 060°. Find the bearing of X from Z.

Al

B
i
D

300°
240°
180°
120°

Turn gver




> 27.

18.

29,
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Which of the following is not a probability of Mary scoring 85% in a mathematics test?
A, 015
B. 0.57
L. 094
“D. 1.0t
i IRL 7 T i:}: ,‘
N
i A
s maa
ST
T
Eii:.:' ks 4
D R s e e
Use this histogram to answer questions 28 and 29.
Estimate the mode of the distribution.
A. 515
B. 525
C. 535
D. 545
What is thc median class?

A, 60.5-70.5

B. 50.5-605
C. 405-505
D. 30.5-40.5




32.

33.

34,

1026
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If 2log, (33) =6, find the valuc ofx,

A.

B.

ki

=

M= WIN W M

IfP={y:2y=26} and Q= {y: y—3 £4}, where y is an integer, find P m Q.

A.

B
« T
D

(3.4}

3.7}
{3,4,5,6,7}
4,5, 6}

Find the values of & in the equation 642 = Sk + 6.

If y varies dircctly as the square root of (x + 1) andy =6 when x = 3, find x when y =9,

A.

B
L
D

8

7
6
5

The graph of the relation y = x2 + 2x + k& passes through the point (2, 0). Find the value of k.

A.

=

0

Turn over
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35.

36.

37.
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< BUSINESS
ay
w
750
7o SCIENCE

900

TECHNICAL

The pic chart shows the distribution of 600 mathematics textbooks for Arts, Business, Sciencc and Technical

classes. Use if to answer questions 35 and 36.

How many textbooks are for the Technical class?

A. 100
B. 150
C. 200
D. 250

What percentage of the total number of textbooks belongs to science?

A 123%
B. 202%
C. 25%

D. 413%

RN
@

‘ A 26 3@
\T il S’ . g <
% 4 v /58

In the diagram, PQRST is a regular polygon with sides QR and TS pmduc.e%{?’ mect at J.

Find the size 6f Z RVS. a
A) 36° ' : W/'
S= ) 4, S Petase
C. 60° : ; . e
C ey P S N
D. 72° e - Shn = sGo-
b = & 2




WAEC Past Questions - Uploaded on https://realmina.com
13

38. What is the locus of the point X which moves relative to two fixed points P and M on a plane such that
£ PXM =307

A. The bisector of the straight line joining P and M
B. Anarc of a circle with PMas a chord e
C. The bisector of angle PXM

D. A circle centre X and radius PM

39.

HA D 5T = 180

T AGe = gy

H a.
= 120

50

40
In the diagram, PQ is a straight line. Calculate the value of the angle labelled 2y, = ° &
A, 130° NS o 7_7 *_-so»cm -
B. 120° /,, :§p = \g6
c. 110° AR
D. 100° =t =

40. When a number is subtracted from 2, the result equals 4 less than one-fifth of the number. Find the

number.
A. 11
15
B. B
|
5
D 2
41. E & : a simple fracti
- Express ——= — —— zansmpc raction.
" 2.1—7
“+x—6
B. e
12+x 6
T~—2
& vt
x+x-6
x+7
x2+x—6

1026 Turn over
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-42.  Aninterior anglc of a regular polygon is 5 times each exterior angle. How many sides has the polygon?

43.

44,

1926

15
12

Cnw >

/56
260

V2

N
e

e '. 3 o o
_ o | (168
In the diagram, ST, //_PZ}, reflex angle SRO=198° and L RQP = 72°. Find the value of y. SO

108° 75 Q0"

P

<A
<z MLz

Sy B

s

e

A 18
B. 54°
C. 9
D.
X Y
€

) ’éy FePa® = 516

= 0% =355
== I

Using the Venn diagram, find n(Xn Y").
A& 3 ‘

y
i 4
D. 6

oy LN




45.

50,

1026
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Given that P=x2+4x—2,Q=2x- land Q—P=2,{ind x.

A =2
B. -1
e 1
D. 2

A pyramid has a rectangular base with dimensions 12 m by 8 m. 1fits height is 14 m, caleulate the volume,
A, 3443

B. 448 w3
C. 632m’
D. 840n?

The slant height of a cone is 5 cm and the radius of its base is 3 cm.

Find, correct to the nearest whole number, the volume of the cone. [ Take m= —7~}.
A. 48 en?
B. 47 cm?
C. 38cm?
D. 13cm’

The distance between two towns is 50 km. It is represented on a map by 5 cm. Find the scale used.

A, 1:1,000,000
B. 1:500,000
C. 1:100,000
D, 1:10,000

Given that (x + 2)(x2 — 3x + 2) + 2(x + 2)(x— 1) = (x + 2) M, find M.

A (x+2)2
B. x[x+2)
C. x2+2
D. 2-x

An open cone with base radius 28 cm and perpendicular height 96 cm was streiched to form a sector of a
22

circle. Calculate the arca of the scctor. [ Take = 7].
A. 8800 cm?
B. 8448 cm?
C. 4400 cm?
D. 4224 cim?




